
s|=;+ cfo÷cfDbfgL cg'dflgt oyfy{ s|=;+ Joo÷vr{ cg'dflgt oyfy{

1 gu/kflnsf cg'bfg k'FhLut 40883000 40883000 1 rfn' vr{ 59142162.32 53589250

2 gu/kflnsf cg'bfg rfn' 5509000 5509000 2 k'FhLut vr{ 73852000 89655229

3 LGCDP sfo{s|d 3869000 3869000 3 lgsf;f lkmtf{ LGCDP 0 376750.00

4 gu/If]q k'jf{wf/ ljsf; sfo{s|d 12843000 17843000 4 df}Hbft÷a}s afFsL 0 12303541.28

5 ;+l3o ;+/rgf k'jf{wf/ ljsf; sfo{s|d rfn' 0 2000000

6 ;+l3o ;+/rgf k'jf{wf/ ljsf; sfo{s|d k'FhLut 0 8000000

7 pkef]Qmf ;ldlt gub nfut ;xeflutf 9326000 9473000

8 /fh:j afF8kmf8 lhNnf ;dGjo ;ldlt 0 430000

9 /fh:j afF8kmf8 /lhi6]«zg b:t'/ 6000000 9791787

10 ;8s af]8{ g]kfn sfo{s|d 3800000 3733687

11 ;fdflhs ;'/Iff cg'bfg 40953000 33485000

12 cfGtl/s cfo 9100000 10507327.96

13 :yfgLo zflGt ;ldlt 36500 0

14 ;fljs uf=lj=;=cg'bfg k'FhLut 0 8822306

15 ;fljs uf=lj=; cg'bfg rfn' 0 903000

16 ut df}Hbft 674662.32 674662.32

hDdf 132994162.32 155924770.28 hDdf 132994162.32 155924770.28

rfn' vr{ k|ltzt 37.41

k'FhLut vr{ k|ltzt 62.59
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